Single Sofa Assembly Instruction

(@@ o) Q Bolts
M6X30
10 Bolts
1 Allen Wrench
S | 4

({1

A 2 | Right Armrest
= | Left Armrest
2
T 5 Back for Sofa
y—— 2 | Seat for Sofa
@/
_— 7 | Seat Cushion for Sofa
] 2 | Back Cushion for Sofa
O => 18 Washer




STEP 2

STEP 4

STEP 1

STEP 3




Three Sofa Assembly Instruction

: . Washer
1 Right Armrest O => 20
Backrest for the Right P @) 4 Bolts
| > Sofa M6X30
7 R @ 8 S
M6X30 olts
=BB== 1 Seat for Sofa
S 1 Allen Wrench
=— 1 Back for Sofa
T ? :
\
Leg for Sofa
L __J 2 2
J 8
— - 3 | Seat Cushion for Sofa MORLS

3 Back Cushion for Sofa




v — O

\mgo

STEP 2

ll...!
L Lt
-~

e

Vyavs

STEP 4

STEP 1

—
e
T —
T
— o
—_

STEP 3




Table Assembly Instruction

| \ Top
Leg
|
Washer
O
@|o) Bolts
M6X15
Allen Wrench

CCCC(

STEP 1
/DT
%
A
i 4 \\ \.\ \.\
| i nw
| - \\|
\
#
| 2
STEP 2




